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Plant and leaf structure revision and Photosynthesis equation

Uses of Glucose and testing a leaf for starch

Limiting Factors of photosynthesis

Required Practical: the effect of light intensity

Required Practical: the effect of Light intensity

Aerobic respiration

Anaerobic respiration in humans and oxygen debt

Fermentation in yeast
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Greenhouses can use our
knowledge of limiting factors to
maximise production,
making plants grow faster.
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Test o portly covered leof for sterch

The centel part of the leaf was not able 1t
. oy Q photosynthesise because it hod green ligh
LB

which is reflected
®—

Wax Quice  For waterproofing — The centel part of the leaf was cbie to

phatosynthesise becouse it hod red kight

The centel part of the leaf was which is ebsarbed
not eble to photosynthesise The cental port of the leaf wos able to
Cells with loads of Because it hod no light . — photosyrthesde because it hod bive light
which s absorbed —~
areato o
absorb as Products:
much Converted for storage
light as ghocose _mmmp DCPOSE 03 Sugor cOM
posstble Lots of air spaces for 107 65 petetces, cericls
gaseous exchange Wpid (fats ond oils) &) repe seed, olves]
Converted for growth
ghocose celbdose for cell walls
\ : iguds for cell membrores
« minerol salts o FNS 65 enymes
Lower irtar nbmncie
hlorophyll, DNA
Epiis U Respired Tt
snugor{ghucose) « sxygen Y carbom dipaide + water
ransported to other parts e
Cellular respiration: The mltDEhD!'ldl’la areorganellesin P
A series of enzyme controlled reactions that release energy from organic plancand animal cells. |thasa + lessoxygen [usedin
molecules, like glucose. folded inner membrane; this gives respirztion)
Animals store sugar as glycogeninthe liver and muscles. This is broken ita large surface area for the * More COZ [released
down during exercise to release glucose chemical reactions totake place so in respiration)
There are two types it can release more energy. *  More water
B . How aerobic respiration differs to
Aerobic respiration anaerobic ... Used in Many Ways.mme
Most steps take place inthe mitochondria (anorganelle found in plant and Aerobic uses oxygen = Muscle contraction
animal cells) Aerobic does not produce lactic 2cid * Buildinglarge malecules form smaller
This releases a lot of energy. The energy is usedin manyways Aerobic produces carbon dioxide and onesin znimazls, likeaminoacidsinta
water prateins, of simple sugarsintolarge
R N - carbohydrates
o o from the breakdown of ae,r'oblc r‘esplr‘quon * Building proteins form glucose and
starch. Starch Digestion begins in the nitratesin plants
mouth, with amylase enzymes, this * Keepingzconstznt body tempersture
produces maltose. Maltose is then broken - " in mammals and birds.
down by maltase engymes in the small + 60; —» 6C0;+ 6H.O0 +
intestine to form glucose, which is soluble, #4—wu _
andis absorbed into the blood stream. @ Yeast Cell
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Carrizd by red blood cells. Diffusesintathe bload st the slveoli This s carriedin o il B Jow resting heart _
- - . the blood to the are maintzined as part
There are many zlveolito give alarge surface ares for rapid - L rate
o i o o lu whereit of homeaostasis, thisis Duri ins theil
diffusion, =nd theyhzve thinwzll to speed up diffusion. Ventilztion ngs uring exrcize their — —
B . B " o . N the concept where the heart rate doss not
and circulzstion keeps the concentration gradient steep so diffusion diffuses intothe T
N . . body keepszconstant increazs az much .
iz fast. Red blood cells have no nudeus so they cancarry mare alvecliandis - N N Can respire serobically and
internal environment They recover quickly to anserabically chis wit make
exhaled restafter exercise Wthanol and it siso caled
farmentation)
Anaerobic Respiration
P—— During exercise ourheartrate and breathing rate mm
i and depth of breathing increase because....
‘ Our muscles sre contracting more, so they require Just Glucose (e
more energy; o0 more resp'lratiunmusttahe. wm:g" mm';
place. We bresthe fasterand desper totake in {hess enevpy)
Anzerobic respiration: this occurs during sustzined periods of exercise or short imervals of high mare oxygen znd to exhale the excess carbon
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to break down the lactic acid, thisis called the oxyzen debt

intensity. The musdes cannot getsufficient e nergy from serbic respiration and so use
anzerobic respiration to relesse energy without oxygen. Lactic 2cid is produced and builds up
causing muscle fatigus. After exercize the lactic 2cid is removed by the blood and broken down
by oxygen to carbon dioxide and water. 50 even after exercise we have a high oxygen demand

dioxide quicker

dioxide, and our heart beats fasterto deliver
maore oxygen and glucose tothe muscles faster,
the fast hear rate 2lso rermoves lzcticacid fearbon
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frscles ind Rnep yOU wWarm.



